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1. tt.;it (a) lim XX (5%) (b) f'(O) , Jttp f(x)=:ln(l+e 2x 
). (5%) 

X-l>O+ 

i
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x22. ~t.;tt (a) g(x) aq~ijf- , ~ tp g(x) =: !l'U 2 -1 du. (5%) (b) t xcos()dx (5%) 
11 +1 

23. (a) it*-f- tiJ z = 0 ~~~bJ iii z = 1- x - y2 PIT ~ ftl r&p,jtaq IE tttt;fi. (5%) 

(b) ~t ,"I<. f(x,y) = xe' ;(£fI; P(2,O) $Jl of f.J J: v = ( - ~ ,2) ~IJ ~ f.J lUt. (directional derivative). 

(5%) 

4. (a)~r,'~l:.$.H:jiUIJ an =(1+ ~J kIIUt?l!k#-*-? (5%) 

(b)1tra~jl::.~~fa.iti 1 ;tAt~t?l!k1~*? (5%) 
n=2 n In(n) > 

<:Q (-3f xn 
5. 	 it *- ~ ~ fa. it L ,J;;+I a!J ~t ~t.:f- ~~ (radius of convergence) ~ ~t ~ ~ Fa' (interval of 

11=0 n + 1 

convergence). (5%,5%) 

6. it1~mLagrange multipliers :? il:-~3t ili f (xl' X2"'" Xn ) =Xl + X2 +... + Xn 11. x; + X; +... + X; =1Ht 

,*~ra!J:aA{t (lnaximum value) ~:l.fJ,{t (minimum value) (5%,5%)0 

~ '::-~fr tt ~J! (40% ' **110 fr) (~ll t1:11t ~itlfl. ' :§ ;ltl.;y; f'ttfr) 
2

7. 1t.;1<. f x + 2x -1 dx (10%) 
. 2x3 +3x2 -2x 

8. 3t mf.! ~ it~t1t (implicit differentiation) .;:ft 8z / ax ji!. az / £tv ' ~ tp x3 + y3 + Z3 +6xyz = 1 . 

(10%) 

x29. it.;1<.! £e dxdy . (100/0) 

1O.1t.;"jt f (x,y) =: y3 +3x2Y - 6x2 
- 6y2 +2 a!J H" ~~:a A1.t(local maximum value) , JaJ ~~:l fJ' 11 

(local minimum value) -1f~J,Ji(saddle point) (10%)<) 
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